Fa I (RAZ T D BT

1 AOp¢gxr
AOESIYRLEER
AEF0604(19854F)

BT %

(BN MR, 5HT. BAFET. XEHT)

80 ~ 84

oo

,:

75~ 19

10 8 6 4 2

0 0

2 4 6 8 10

AOERE(T2F108 1 HIRAE) B A
&t B M

INEE: 204279 | 97,882 | 106,397
65mLlEADO 63,397 | 27570 | 35827
" 310 282 33.7

(RBRLLE %) 12051 12641l [324]

2 92,848 [802,803]

— s A 2.20 [2.21]

[RIZ=88
AOBEE(RH2E)HEE R BT A
it Bk =

HAEH 1,325 682 643

L 2,564 1,306 1,258
HAEEADFR) 6.49 [6.29]

T & (AOF ) 1255 [11.70]
[IRIZ=88
SELRAODHT Bfr: A
FRTE | ER22EE | A2 FF024
(20054F) (20104F) | (20154F) | (20204F)

0~14% 20767 | 29161 | 27,313 | 25,094
15~645% 138,149 | 131,358 | 121,599 [ 114,111 Ho~i14m  BM5~64im  DESRLLE
65m L E 50,448 | 55299 | 60,683 | 63,397

2 ZCDKE
FRABETE ANO105 %t A0k ~64mRI BT REFTBRETE
SEH Bif ZE AO10F%

N 1378 747 =T I =
BILHEY [144.8] [77.6] IR 152.2 1935 1122
L & & 02.0 328 =1 16041 2022 1187

S e
e . TSRO R 7
TBEEMW [57,_'2] [12%] BEREH 1 |
] = ; . it Bt i
e [T I - I P S
i . . ARA105% . . .
"R [5.4] [2.4] = 1,408 987 471
= 1.5 1.0 ANO105 %t 15.7 22.6 9.2
& ol [is] ,
[ERURSEERS [k

o0s000000000000D0e0000D00000DO0

[ 100000




FRARET R (EESERDOTY) (B4) ORI D=F8 (ZtE)

U st 1 ml

W D & &
,m B

160

8

140 120 100 80 60 40 20 0 0 20 40 60 80 10C
T i SO, .S
e
w % R M_I_I
6 4 2 0 0 1 2 3 4
FERABRCEOERMER
Bt Zikooo

200.0

150.0

500 |

0.0

12.0

100
80
6.0
40
20

0.0

H28  H29  H30 ROl RO2
SMR({R#E3ET )
Bt I | HARR Hh L

‘—

—— EMH | 800 | K ‘ ' I I

600 |
1000
———‘—-—.‘.—-~*___.‘

S o ==l o

-oane- S

= — % fmE
go = T— . gy 20.0

H28 H29

H30 RO1 R02

—— XEE

i 40
-ooA--- KA
— %= WR®E | 20

—x—FnE 1.0

B

R

ZERDAEFA100

Tt

FENRA
EHEYAR

NG KM A

AV

A fiti
A DataBox AL - HEQTE | GIRE108 1 BB
E&mEal A\OBRERAERFT—4]
REATEREARABIRICEDIAO, AOFRERUHESRIGIZEIRA1R)
SMRIZFEALF-AORURTHIEILEZEEZSTSFEROEE
A= #ZDataBox AQ - HHEDEFETIOAD

HREATEREARSIRICEDAO, AOBRERUHETHIOHTEE
2




